
SESSION 9 · Work in
M NATURAL

By conservation of momentur & UNITS

particle 1 and particle I here equal and

opposite momentum (magnitude = p)
Initial 4 rector = (M , :) =
Final 4 rector = (EitEc ,

%)
-

E=Mi Ec = NM?
Conservation of 4 momentum (or conservation
of energy)
mi ++m = M

Tom = M- rm?

p2+ mY = M2+ p +mE-IMPEM

IMM2 = M2+ M2- Mil



4M2(p2+m2) = (M2+ me-mi)

= -Mit -m
-

Then since Ez = T+ ms

Emm
For Ey ,
I can just interchange 152

E =MM
As a sanity check , I should find EEEM

Et-M-mi
EstFc==M Vok !

=


